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Read the passage carefully and answer the
questions.

Once upon a time, there was a little girl
named Maya. She loved to play in her
garden. She had a tiny red flower that she
loved the most. One day, a big, bad storm
came. The strong wind blew and the heavy
rain fell. Maya was worried about her little
flower. When the storm stopped, Maua
ran to her garden. Her little flower was
still there, safe and sound! She was very
happu.

Q 11. What did Maya love to do?

(a) Play in the park

(b) Play in her garden

(c) Watch TV

(d) Read books

Q 12. What color was Maya's favorite
flower?

(a) Yellow (b) Blue

(c)Red  (d) Green

Q 13. What happened one day?

(a) A sunny day

(b) A snowy day

(c) Arainy day

(d) A windy day

Q 14. What was Maya worried about?

(a) Her doll  (b) Her book

(c) Her flower (d) Her toy car

Q 15. How did Maya feel when she saw her
flower was safe?

(a) Sad (b) Angry

(c) Happu (d) Tired

Q 16.Choose the verb in the sentence: "The
cat sleeps on the mat."

(a) Cat (b) Mat

(c) Sleeps (d) On
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Q 17. Choose the conjunction in the sentence:
"l wanted to go to the park, but it started

raining."
(a) Wanted (b) Go
() Butl (d) Started

Q 18.Which of the following is an interjection?
(a) Excited (b) Wow!

(c) Run (d) The

Q 19.Which word in this sentence is a noun?
"The dog ran fast."

(a) Ran (b) Dog

(c) Fast (d) The

Q 20.What part of speech is the word "loudly"
in the sentence: "She sang loudly"?

(a) Verb (b) Adjective

(c) Aduverb (d) Noun

Q 21. Teh o & AR YSTIT <Al FITTThet T
eIl &2

Q 28. 50 &1 75% foha=11 gIT?

(a) 25 (b) 35 (c) 40 (d) 37.5

Q29. 2x2x 2 HHRATE?

(a) 4 (b)6 (c) 8 (d)12

30. 1% H fha g2 gl &2

(@) 12 (b) 24 (c) 36 (d) 48

Q 31. YUTeRUT AT {3 U i A1 8?
() U1 ( b) FEE (c) farsiett d) Atarge
Q 32. gielf ol Wi &9 o [ e =nfgy
BT 87

(0) SifeRflS (b) e STg3HTaTES
() Arggle  (d) BTEgIoH

Q 33. agHSA § Ta ATk 79 i o gt
8?

(0) SifeRflTT (b TrEgIoH

(c) A eTB3HTFTES (d) Eiferad

Q 34, INT et ahl STHT e hl UfchdT ot aT

(a) &5t (b) 3TIa o3 57

(yuim - (d) (a) STTERETTT (b STef HGNUT

Q 22. 45 3% 15 T HewH THMTG (HCF) FT | () auf o d=a= (d) o7 qfSaom

87 Q 35. I GT SR ATHERT 872

(a) 5 (b) 10 (a) 2R (b) 919 (c) f&2or (d) efHst

©15 (@20 Q 36. s ) e 22

Q23. 8x7=7 (a) gafeaRor & wezar

(a) 49 () 59 ( b) TafaRoT ) et

(c) 56 (d) 64 (¢) gafazur &1 faem

Q 24. 50% 1 31 T §? () QEIFeRoT T BT

(a)1/4 (b)1/2 ;

g) 3/4 (d)71/3 3737.q&ﬁaﬂmﬁu%maﬁwmm
25. 1000 - 200 = ? ; .

(a) 700 (b) 800 (GERIERY (b) &t hl FeTs

() 900 (d) 1000 g)3gamlilqmﬂ!m (d);‘;rmﬂ?a;q&r:% )
26. fopg Raget & =t F §RIER 7 .38. .

?a) waﬁmﬁgﬂ; T g (a) 3ifereh aet (b) Tt Y ers

b) THzaTE B (€) STeT T GRUTNT  (d) STeT ohl HRET0T

(b) e Q 39. Yeefl &1 hIF TT W STel & SR §3TT 872

(<) Fg Py () Y-S (b) amenm

(d) taseTg Pt (©d-derE  (d) g

Q.27 12 5i¢ # foha fAeTe g1 67 Q 40. 3T Srotf o1 TG 318y Jo1t 22

(a) 600 (b) 720 (a) T (b) Uter

a4 - hedT- 33T sho-

1@AEO0 s @BOO = AEOD2AEOD»-ABLD:xAB®OO
2(ABQOD » AB®OO1s-ABOD 2BAEOO*-AEOO @O
.AEOD.AEO0O * ®ROO*»AGOO* A@B®OD:xAB®OD
+»@AEO01-AEROWO = ABODsACOE2AB®OD»A®OD
. GO0 12 AL 1.AEOD % A®OD:A®OD+ABOO
.ABOD1:. ABOD2.AEOD 7BG®OD*EBOD

1BAEO00*BECO01.BAEOD=BEOWDsBE®LO

feiara feierm &are

2



(¥ )
!
[Tp)
[SF]
=5
[

3<¥HTT < - 03

< m o O O m m O O O
- N M & 1N O N 0o o O
M M ™M ™M ™M MM ™M mm ™ F
O < O M m O m o O m
- &N M & 1 VW N 0 o o
AN N N N N N N N N ™m
n O O O O O O m m O
- N M & 1 VU N 0 o O
- = ¥ ™ = = ¥ = =
< < 0 0O < < m m < O
“ N M & 1B 86 N & o O

fE2ra feiem g




